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scanf("%d",&num);
1f (nums%2==0){

printf("sdZBE&\n",

}else{

}

printf("sdZZF&\n",

H#E K
scanf("%d",&num);
if(num%2==0){

printf("%sd2E&\n",
}elseq

printf("%dZF&\n",
}

num );

num );

num );

num );
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scanf("%d",&num); HRIEITAROIBEAIERE - BBARTEYHRE
{f (nums2==0){ & — B g5 R 4

printf("SsdEEEN\n",num );
}elseq i=1
printf("sdZ&2\n",num ); while (1<=1000){

}

{=1+1; # BM—R - RE+1
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int main( ){

int (1=0; - EHEIRMELERERE
while(|i<1OpA > EEERGREL - iENR10
printf("HaHaHa!\n");
i=1+1:

} /
return 0;

} EEFIRANTERAFREGCUEMIEE I E N
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#include <stdio.h>

int main(){
int 1=0;
int n;
scanf("%d",&n);
while([i<njH— ZFUFHEFZRZEDN - | BEAENDR n
printf("HaHaHa!\n");
i=1+1;

}

return 0;
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#include <stdio.h>
int main(){
int counter=1; /*5t&=s - BREFRE0N]  EHFZME"/
int grade; /*Ai4E*/
int total=0; /*# 5 - WIRAE0 - ERKRESEZLRIFEtotals BRI EY/
float average; /*¥15*/
while(counter<=10){  /*fE&t&=/\RZEL1005*/
scanf( "%d" ,&grade); /*EIAE =Y/
total=total+grade;  /*/142*/
counter=counter+1; /*H5c—RREIZNNL*/
} o /MEEAERY/
average=(float)total/10; [*ETEMNIT - (B EREIRDIZEU RSB EAZ RAEx/
printf( “%.2f\n" ,average);  /*EERF15*/
return O;
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average = (float)sum / n;
printf("%.2f\n",average);
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#include <stdio.h>

int main( ){
int 1=0;
int n;
scanf("%d",&n);
while(i<n){

printf("HaHaHa!\n"); = N B S EE A

T - BIER - BERKES
} AR E FERSwhile 48 M1
return 0;
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